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fruit = ["apple", "banana”, "lemon", "tomato"]

for fr in fruit :
count = 0
for fin fr:
print(f)
count = count + 1

print("OtO[ &l &= = " count)
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for i in range(3) :
for j in range(3) :
print (* $")
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for i in range(2) :
print("#")
for j in range(5) :
print (*
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for i in range(2,7,2) : # times table : 7, 8

print ("1st level = ", i)
for i in range(7, 9) :

N ===
forj in range(1,5,']) : mm=m===== RESTART: print (i, "th table")
print(" 2nd level = [ist level = 2
. nooe . wocgnl Znd level = 1 e .
print(" i*j= " i) LT, for j in range(1,10,1) :
- M n n M [1] * n M n —_ n '*'
\ 2?d*|?uil 4 2 \ prlnt( Py 1 _JI = 1 _J) /
2nd level = 3 i===
I | + J - 6 o= RESTJ{'\RT
Zznd level = 4 ====
| ixj= 8 7 th table
15t level = 4 | - R,
nd level = 1 7 * 2 = 14
s =4 Tox 3 = 21
2nd Ieuel :8 2 7Tox 4 = 78
P* ] = 7T o+ B = 3b
2nd Ieuel :12 3 7oox 6 = 42
Px )= 7% 7 = 49
2rjd*|eve| :16 4 7 ox 8 = BB
! J = 7 9 = B3
15t level = b 5 th table
2?d*|?uil :6 1 8 « 1 = 8
ond level = 2 A
b 2 § + 4 = 32
2?d*|?vil :18 3 S % 5 - 40
_ 5 * 6 = 48
2?d*|?vil o 4 8 % 7 - 56
e 5 * & = 64
5 = 9 = 72



Faoo| =8 EHp?
4a0l b Botozp )

\_

for i in range(10) :

a=a+1

for j in range(10) :

a=a+1

print(a)
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for i in range(10) : 20
a=a+1 == |

for j in range(10) :
a=a+1

print(a)
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a=0
for i in range(10) :
a=a+1
for j in range(10) :
a=a+1
\print(a) )




for i in range(10) :
a=a+1

a=a+1

print(a)

for j in range(10) :
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fruit = "banana"

count = 0
for char in fruit :
if char == "a" :

count = count + 1

print(count)
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fruit = "banana” TS
count = 0 —===
for char in fruit : 3
if char == ‘a’ : T

count = count + 1

\print(cou nt) /




/fruit = "banana"

count = 0

for char in fruit :

if char == 'a":
count = count + 1
elif char == 'n";
break
else :

print(char)

\print(cou nt)
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count = 0

for i in range(5) :
for j in range(3) :
if(i+j)%5!=0:
count = count + 1

print("i +j =", i+j, "and count =", count)
else :
break
print("i + j =", i1+, "last count: ", count)
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Prime Number 29l

ﬂprime number Of & =0l \

num = int(input("input a positive integer : "))

prime_yes = True

for i in range(2, num) :

if num % i == 0:
prime_yes = False
break
e
if prime_yes == True : —=—====== RESTART: E:/1_Works/2!
print(num, "is a prime number") input a positive integer @ 12
else : 12 is not a prime number

print(num, "is not a prime number") J ==
\ ========= RESTART: E:/1_Works/2
input a positive integer @ 11

11 1% a prime number
e e |




RV

= H /|-
2| THo{ o] F0{7t= =X Z otLHE Y= et}
R AW X0 2 SX7 A=K H=C

=
=
EXSHx| b= 2t F2, 2iCtn E3BHCL




8

d==H 1, 3 EL A}
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Nord = input("ErO{E Y ESIMR: ")
letter = input("HXIE &2 oF 2XE YHSIHR: ")
=
count = 0 ========= RESTART: E:/1_Works/2017Work/t
S E Y™StM 2 Javascript
, HAE s 3 SAE Y52 S
for char in word : S = JavaScript 2 5 H@ & L ch
— + e
%Ount _Eount _1 ========= RESTART: E:/1 _Works/2017Work/}
if char == letter: “tOlE Y S 5tMl g JavaScript
break HAE E 2 SAE d=™€stH g s
s = JavaScript LHO| €l=uch
. =
if count == len(word) :
print( letter, "=", word, “LHO|| Si&L|CH)
else :

print(letter, "£", word, "2|", count, "HR ?|X|gtL|C}")
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s = input("Input message : ")
count = 0

forcins:
If C - — ||a|| .
count += 1

print("count of #aW' : ", count)
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lnput message .
count of 'a' .
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apple and banana
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/num = int(input(" 7t B EK] & SHAei? ) || peo @ cippal geEsfae gl o4
o 2 x 2 = 4
for i in range(2, num+1, 1) : 2+3 = 8
. n__nk 2 x4 = 8
print("="*20) S+ B = 10
for j in range(2, 10, 1) : g * ? = E
. LI T RO T I T noe . * =
print(i, ™% ), " =" 17)) 2x8 = 16
20 = 18
3%2 = B
3%3 = g
\ 3 x4 = 12
35 = 15
3+6 = 18
3% 7 = 21
38 = 24
3%0 = 27
4 %2 = 8
4 %3 = 12
4% 4 = 16
4 %5 = 20
4 %6 = 24
4 %7 = 28
4 %8 = 32
4 %9 = 3B
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